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26 33+ 35 L+9+5 123 
LCN T1O2,5.102= 10 to 

Nanber oiquantities qien z 6 

Aoage 199 

t34 +69+6 5+2123 
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Numbe ai quantiies qàen s 6 
1936 Avertoge 17 17 
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Avertacpe Q8 
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Numberaf quantities aven 5 
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79 

3Eind the avecaqe all even numbexs beteeen 7and 93 
Soltion 

ALthe evennumbers beteoeen 7cncl93= 8,0 4,1613,20, 19 

Ayexaqe=Sum af allquantiiies 
Numbex oi quanditier 

8+1Ot 19 +|4+ 16 +18 t 20 +29 
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Endthe cveraqpe ofall.oddlxumbers betepeen 
10and.30 
Soleotion 
AlL odolnumbers beteween lOand30= l1,13,i19, 
93 

Avercaqe = Sumgall quantitier 
NumbeLodqucntities 

= l+t13+ 12 +19+3 
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